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Abstract
With regards to the growing rate of mechanization in agriculture and the 

growing concern over the usage and attempts to optimize and make better use of 
agricultural machines and implements in this article the operation and function of 
rotary tillers in soil condition of Kerman province which mainly consists of a 
clay-loam texture with moisture level of 14-16 percent has been studied . In the
next section a shaft of rotor with different blade arrangement and different rate of 
rotary speed to forward speed was analyzed dynamically with a software 
.Considering better parameters in use anddesigning a rotary tiller could reduce 
depreciation of machines and erosion of soil .With regards to the blade 
arrangement on rotor the result shows that by choosing the angle of ο10  between 
to blade on adjacent flanges and considering the ratio of λ the amount of exerted 
stress on shaft can be reduce to
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